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7y o h T 2 ERE T

X 45 T

I oL z, B =
HAK—
BAE 7 10 3% & S FEN=7- CTBELE R /4. 50
200%30 (it =) |ERE ML R LI=sREEETE X (7= TEER X-1. 00-0. 26)
L1=9. 98/4. 50 X (1/2 X (6. 06+6. 21) 1. 00-0. 26)=10. 81
KT AR S L2=7- TREMER: X 1. 020 (£13R1:5)
.2=9. 98 X 1. 020=10. 18
£A3F 10. 81+10. 18=20. 99
20.99 m
&% L
7 FW TR ER R E (2) s
Wi 2 35

122. 45 $#m2

VaA s hN—
¢ 19 L=600

HeBE TJRBANX L 0

12 ZN




A B 8 TABREE BAEHRE (1)

AtEE

a7 J—h
R BB (m) W e £ (m2) W A (m2) & & (m3) Wr e £ (m2) SELEI T R A (m2) & & (m3) fig B
NO. 4+10. 00 — 9.15 — —
NO. 5 9.98 9. 30 9.23 92. 12
7 g 9.98 92.12 0. 00
& 2 9.98 92.12 0. 00




AR AT 3R

% BR o SEMITABREE S ERHEE (2)
Tl e 2% T

R BB (m) & (m) SEEINE (m) i fE (m2) & (m) SEJIE (m) mm fE (m2) fig B
NO. 4+10. 00 — 14. 02 — — 12. 42 — —
NO. 5 9.98 14. 46 14. 24 142. 12 12. 86 12. 64 126. 15
vi T NO. 5 9. 30 — —
Ui NO. 5 1. 00 9. 30 9. 30 9. 30

/I 5 10. 98 151. 42 126. 15

& Z 10. 98 151. 42 126. 15




B ST T
7y o h T 2 ERE T

X 45 0 8%

AR B RS Bl =V R =
a7 U— |
8 B TABEEES EF A E (1) 2 Hi&RT
EkHH o ck=24N/mm2
JERRE 2> 7 U — R OHIE
JERRECEIE R = 1/2 X (D FHEHERIE R + ) & SR R)
L=1/2X% (9. 980+9. 980)=9. 98
FIEEE V=R m A g X (ERNGHERIE K- 7= TREIE )
V=6. 00X 0. 80 X (9. 98-9. 98) =0. 00
a7 ) — MEFE=92. 12+0. 00=92. 12
92.12 m3
Tl e
8 B TABEEES EFAE (1) 2 Hi&RT
EZNiL]
JEERRGE AP D A 1E
JERRFEIE R = 1/2 X (DO F AL R + ) & SR R)
L=1/2X% (9. 980+9. 980) =9. 98
FHIEE A=W A & X (ERRGHREAE R -7 TREIE )
A=2X0. 80X (9. 98-9. 98)=0. 00
IR EFE=151. 42+0. 00=151. 42
151.42 m2
710}
8 Hfi T PERE Bl B EF LY
SD345 D13
1,076.0 kg
710}
8 i T PERE MMl SRHEERLY
SD345 D16~D25
2,248.0 kg
E7 1]
8 Fifi T MERE MMl SRHEERLY
SD345 D29~D32
6,487.0 kg
710}
8 Fifi T PERE MMl SRHEERLY
SD345 D35
0.0 kg
H Hkt
7= TCRESR (NO. 5HrrH)
TG HIGHEE B bt (07 T 2CERE i T B iR & (1) X
t=20mm 9.30 m2
KA T
ARFN="7= CRERIT AR X 1/3 (@3. 0m2)
VP ¢ 65 N=1/2X (6. 21+6. 43) X 9. 98 X 1/3=21. 02 (=224)
FERL=AEL X 7= CTREE
=22 X 0. 70=15. 40
15.40 m
W HH B 1R
A=K & /A T AR%R/2 0. 30X0. 30
300%300%10 A=22/2%0. 30X 0. 30=0. 99

0.99 m2




B ST T
7y o h T 2 ERE T

X 97 8%

I oL z, B =
HAK—
BAE 7 10 3% & S FEN=7- CTBELE R /4. 50
200%30 (it =) |ERE ML R LI=sREEETE X (7= TEER X-1. 00-0. 26)
L1=9. 98/4. 50 X (1/2 X (6. 21+6. 43)~1. 00-0. 26)=11. 22
KT AR S L2=7- TREMER: X 1. 020 (£13R1:5)
.2=9. 98 X 1. 020=10. 18
A3F 11.22+10. 18=21. 40
21.40 m
&% L
8 HFWITHFEREERTHEE (2) MHinid
Wi 2 35

126. 15 $m2

VaA s hN—
¢ 19 L=600

HeBE TJRBANX L 0

12 ZN




A BR o OSTABREE BEHRE (1)

AtEE

a7 J—h
R BB (m) W e £ (m2) W A (m2) & & (m3) Wr e £ (m2) SELEI T R A (m2) & & (m3) fig B
NO. 5 — 9. 30 — _
NO. 5+10. 00 9.98 9.48 9.39 93. 71
7 g 9.98 93.71 0. 00
& 2 9.98 93.71 0. 00




AR AT 3R

4 B 9 TR R RE (2)
T 8L

LIS B JHfE () i (m) )1 (m) A (m2) i (i) “V-EJ 1 (m) A (m2) fig o
NO. 5 - 14. 46 - - 12.86 — —
NO. 5+10. 00 9.98 14.98 14. 72 146. 91 13. 38 13.12 130. 94
S NO. 5+10. 00 9. 48 — —
S NO. 5+10. 00 1. 00 9.48 9. 48 9. 48

S 10. 98 156. 39 130. 94

& 10. 98 156. 39 130. 94




B ST T
7y o h T 2 ERE T

X 45 0 9%

AR B RS Bl =V R =
a7 U— |
9 ST RS = A E (1) 2O
EkHH o ck=24N/mm2
JERRE 2> 7 U — R OHIE
JEERGER YL R =1/2 X (D F I E LR + D) & FAER)
L=1/2X% (9. 980+9. 980)=9. 98
FIEEE V=R m A g X (ERNGHERIE K- 7= TREIE )
V=6. 00X 0. 80 X (9. 98-9. 98) =0. 00
a7 ) — MEFE=93. 71+0. 00=93. 71
93.71 m3
Tl
9 ST RS R A E (1) 2 OiEE
EZNiL]
JEERRGE AP D A 1E
JEERGEREYIIE R =1/2 X (D F I ER AL + 2 ) & BAE )
L=1/2X% (9. 980+9. 980) =9. 98
FHIEE A=W A & X (ERRGHREAE R -7 TREIE )
A=2X0. 80X (9. 98-9. 98)=0. 00
I FE FE=156. 39+0. 00=156. 39
156.39 m2
710}
9 B TAHERE BUIX BRAVERFR LY
SD345 D13
1,097.0 kg
710}
9 i TAHERE BOIX BRAE &R LY
SD345 D16~D25
2,281.0 kg
E7 1]
9 i TAHERE FOIX BRAE &R LY
SD345 D29~D32
6,702.0 kg
710}
9 i TAHERE BOIX BRAVERFR LY
SD345 D35
0.0 kg
H Hkt
7= CRESS (NO. 5+10. 00KT i)
TG HIGHEE B bt (07 T 2CERE i T B iR & (1) X
t=20mm 9.48 m2
KA T
ARFN="7= CRERIT AR X 1/3 (@3. 0m2)
VP ¢ 65 N=1/2 X (6. 43+6. 69) X 9. 98 X 1/3=21. 82 (=22.4)
FERL=AEL X 7= CTREE
=22 X 0. 70=15. 40
15.40 m
W HH B 1R
A=K & /A T AR%R/2 0. 30X0. 30
300%300%10 A=22/2%0. 30X 0. 30=0. 99

0.99 m2




B ST T
7y o h T 2 ERE T

X 595

I oL z, B =
HAK—
BAE 7 10 3% & S FEN=7- CTBELE R /4. 50
200%30 (it =) |ERE ML R LI=sREEETE X (7= TEER X-1. 00-0. 26)
L1=9. 98/4. 50 X (1/2 X (6. 43+6. 69) 1. 00-0. 26)=11. 75
KT AR S L2=7- TREMER: X 1. 020 (£13R1:5)
.2=9. 98 X 1. 020=10. 18
A3F 11.75+10. 18=21. 93
21.93 m
&% L
9 ST ERT R E (2) M Hini
Wi 2 35

130.94 #im2

VaA s hN—
¢ 19 L=600

HeBE TJRBANX L 0

13 ZN




B TR T
70y T AERE T

Koy
T SERE T <FiER
bl
avy)—+
o ck=24N/mm2
<
: B .
= I |
MEREHE -
CA iin 3w R -
a7 Y—h
A5 o ck=24N/mm2 b1 Xh2+BXhl "
%ﬁﬁ;} 2XH .
23 T o % h .

Wit 2 55




W T AHERE T AR RE (1) NO. 1
BRBEAMSTIE (m) HEL Wm=sY)
y)=b | B R RS fi§ =
% T i B bl hi h2 - 7 o

(m2) (m) (m) | BRALFR
NO. 3 6.820 | 6.000 [ 0.700 0.700 | 6.120 8.48 | 13.64 12. 24

5% RCT-090
NO. 3+10. 00 (G2 s f81) 6.800 | 6.000 [ 0.700 0.700 | 6.100 8.47 | 13.60 12. 20
NO. 3+10. 00 (& s fa) 6.800 | 5.500 [ 0.700 0.700 | 6.100 8.12 | 13.60 12. 20

6 7 RCT-088
NO. 4 (G s f8) 6.860 | 5.500 [ 0.700 0.700 | 6.160 8.16 | 13.72 12. 32
. NO. 4 (& sffl) 6.860 | 6.000 | 0.700 0.800 | 6.060 9.04 | 13.72 12. 12

75 RCT-105
NO. 4+10. 00 7.010 | 6.000 [ 0.700 0.800 | 6.210 9.15 | 14.02 12. 42
. NO. 4+10. 00 7.010 | 6.000 [ 0.700 0.800 | 6.210 9.15 | 14.02 12. 42

8 % RCT-105
NO. 5 7.230 | 6.000 [ 0.700 0.800 | 6.430 9.30 | 14.46 12. 86
. NO. 5 7.230 | 6.000 [ 0.700 0.800 | 6.430 9.30 | 14.46 12. 86

9% RCT-105
NO. 5+10. 00 (2 s A1) 7.490 | 6.000 [ 0.700 0.800 | 6.690 9.48 | 14.98 13. 38




el Wl YaAr ho—  $19 L=600

N ARG R

#l ¥ 10 ZN=)
MBI L z, S

DRI N

W=0. 60%2. 226 (Kg/m) *10=13. 356
¢ 19 L=600

13.4 kg

Frv7

L=0. 30%10=3. 000
VU ¢ 20 L=300

3.0 m




B ) — b~ EE

AP

BHEa 7 ) —

S| JST HAr | b A % i B
a7 Y —Fh RS 0 ck=18N/mm2 m3 825. 37
Tl 1 m2 274. 15
235 1 HAEBURE S Fhm2 165. 17
R—=Ffary
Y— |k t=5cm m3 20.86 [417.23X0.05=20. 86




4 W REar s ) - MREREE (1)

AR TR

g

avr U—F (&)

R BB (m) W e £ (m2) W A (m2) & & (m3) Wr e £ (m2) SELEI T R A (m2) & & (m3) fig B
NO. 1 — 35. 16 — —
NO. 1+10. 00 (2 = 48)) 9. 00 21. 15 28. 16 253. 44 17
NO. 1+10. 00 (& 1) 0.00 26. 37 23.76 0. 00
NO. 2 8. 46 30. 33 28. 35 239. 84 25
NO. 2+10. 00 (&2 S0 35
8.53 10. 27 20. 30 173. 16
NO. 2+10. 00 (& /5 401)
0. 00 17.12 — —
NO. 3 45
9. 02 18.12 17. 62 158. 93
& i 35. 01 825. 37




4 B REar s ) — MEERTREE(2)

AR AT 3R

Lt i) A 0
oA BE B (m) #Em SEHIER (n) i (m2) e ) TP (m) i 5 (m2) = Em SEEER (n) i A4 (n2) 5 =
NO. 1 — 5. 68 — — 5. 68 — — 14. 18 — —
NO. 1+10. 00 G 5401) 9. 00 4,42 5. 05 45. 45 4. 42 5. 05 45. 45 13. 42 13. 80 124. 20
NO. 1+10. 00 (& 1) 0. 00 5. 74 5.08 0. 00 5.74 5.08 0.00 12. 14 12.78 0.00 |15
25
NO. 2 8. 46 5.22 5. 48 46. 36 5.22 5. 48 46. 36 13.72 12.93 109. 39
NO. 2+10. 00 (i A1) 3%
8.53 3.13 4.18 35. 66 3.13 4.18 35. 66 8.03 10. 88 92. 81
NO. 2+10. 00 (& /5 401)
0. 00 4.18 — — 4.18 — — 10. 07 — —
NO. 3 4%
9. 02 4.18 4.18 37.70 4.18 4.18 37. 70 10. 07 10. 07 90. 83
/I i 35. 01 165. 17 165. 17 417. 23




N ey o ek
B 7 U — b T HHEREE (1) NO. 1
WARE (m) Bk (Mm% v)
EVZARSN IRl e W RN Y
& B h b1 b2 b3 bd b5 b6 b7 b8 b9 b1o | b1 | b1z | b13 | b14 hi h2 h3 hd h6
(m2) (m) (m) (m)
NO. 1 6.000 | 3.000 | 3.000 | 5.500 | 5.500 | 8.500 | 8.500 2.500 | 3.000 5.444 | 0.944 | 2.000 | 2.500 35.16 | 5.68 | 5.68 | 14.18
15
NO. 1+10. 00 4.730 | 2.000 | 2.000 | 4.000 | 4.000 | 9.000 | 9. 000 2.000 | 5.000 2230 | 1.000 | 2.000 | 1.230 2115 | 4.42 | 4.42 | 13.42
NO. 1+10. 00 6.000 | 2.000 | 2.000 | 4.000 | 4.000 6.500 | 6.900 | 2.000 | 2.500 .500 | 1.000 | 2.000 2.400 | 26.37 | 5.74 | 574 | 12. 14
2%
NO. 2 5.500 | 1.500 | 1.500 | 5.000 | 5.000 8. 500 3.500 | 3.500 5.000 | 0.500 | 2.500 2.000 | 30.33 | 522 | 522 [13.72
NO. 2 5.500 | 1.500 | 1.500 | 5.000 | 5.000 8. 500 3.500 | 3.500 5.000 | 0.500 | 2.500 2.000 | 30.33 | 5.22 | 5.22 | 13.72
35
NO. 2+10. 00 GEZ £5A1) 3.500 | 1.500 | 1.500 | 3.500 | 3.500 5.000 | 6.900 | 2. 000 | 1.500 .000 | 1.000 | 1.000 0.900 [ 10.27 | 3.13 | 3.13| 8.03
NO. 2+10. 00 (& A 481 4.500 | 1.500 | 1.500 | 3.500 | 3.500 6.000 | 6.400 | 2. 000 | 2.500 .000 | 1.000 | 1.000 1900 | 17.12 | 4.18 | 4.18 | 10.07
45
NO. 3 4.500 | 1.500 | 1.500 | 3.500 | 3.500 6.000 | 6.400 | 2. 000 | 2.500 .000 | 0.500 | 1.500 1.900 | 18.12 | 4.18 | 4.18 | 10.07




fil Bl BEEa 7 Y — L
Tavyy cm5Ear 7 )—h

X g3
B ) — NI ~FiEE
avyoy—+k
o ck=18N/mm2 b10 ,
o
| | z
e}
/ i 2
/ ; o
JIT <
— <t
| = - o =
(9]
0.30/ b3 “E b13 7 2
b2
o §k <
Lo b11
=
b1
BB Wi 24 v
& B #F H K BN
1,/2X (bl+b2) Xh2+1,/2X (b3+b4) xh3
a7 Y —k +1,/2% (b5+b6) Xhd+1,/2% (b7+b8) Xh5 )
B o ck=18N/mm2 +1,/2X2Xb9Xh641/2X (2Xb10) X0.10+1,/2X m
0.30%0. 50
LT
ﬁ%ﬁ%* h1X 1. 0440 m
T
B A h1X 1. 0440 m
N bl4+bl1+b12+b13+bl4
t=5cm + (h2+h3+h4+h5+h6) X1.0440 m




fil Bl BEEa 7 Y — L
Tavyy cm5Ear 7 )—h

X 97
AR IR oL =\ B =
a7 J—h
B ) — MEEFTEE (1) Xviki
MRS o ck=18N/mm2
825.37 m3
e B ) — MEEFEE (2) XV
A1=165. 17
AHER
1 =306 T A ekE NO. 1 35. 16
1 5 T = PfeeE NO. 1+10. 00 21.15
2 i T ek NO. 1+10. 00 5.22(26.37-21. 15)
2 i T ke NO. 2 30. 33
3 Ffi T ek NO. 2+10. 00 00. 00
4 5 T 2 PfesE NO. 2+10. 00 17.12
4 Fafi T A JfeesE NO. 3 00. 00
XNo. 3IFIRF LIS HR 22 D T, FERM:O o F I3 ERR
BEa 7 ) — MTRIEFRZ 1 5HT=4 538TE LTV 5,
&t
A=165. 17+35. 16+21. 15+5. 22+30. 33+17. 12
274.15 m2
o an
BEEa 7 ) — MEEFEE (2) LViki
AR S5
165.17 $m2
R—=F3 4 ary
J—Fk BEEa 7 ) — MEEFHEE (2) LViEi
t=5cm 417.23 m2




faiopl MR ) — L

MEa 7 ) — b~ BEfEE

O
WEREa 7 ) —

S| Bl HAr | b A % S
a7 Y —Fh RS 0 ck=18N/mm2 m3 53. 71 53. 71
Tl 1 m2 23.48 23.48
N—=TAfrary
J— h t=5cm (&) m2 9.55 9.55
K E AT $65 7 4 IVH—KA m 17.90 17.90 |53. 71+3=17.90
HAEBURE S H=30m Hhm2 11.35 11.35




MERa 7 ) — T

TR
WRa 7 J—F§

Tay s o

IN .
X g7
1S EERT
ISt pERT
189142451
t=700 BEa- 1
#BRaYHS)—+ E @
TSI L=9.00
o —
S
> S
S| =
3 BERaVIU—FHEBR
EL=119.43 EL=119.43 18912y T EtEmE
2
] 4400 5462
1-1. 2-2 ¥rm@ 3-3 ¥rm
700 3700 4219 1243
BRaIU—FEEHR
10200 8470 400 5019 400
= o EL=116.53 ‘ ‘EL:HG 53 ‘ ‘EL:IIS.ES
s| S| o avyy— S
2l = s 2 g T8N/ mm2 S S
=3 s N - 2 2 S
B EL=114.83 EL=114.83 -
Ad o
o o ° s S 3
S S S S = S| =
< 4 2 2| o
EL=112.83 EL=112.83 3 = S
o “© ~
© S 4219 1135
s s g S gl * g I S
S 2 2 2
~<J ~ ~ N ~ Y
o o
EL=110.43 o|EL=110.43 EL=110.33 = EL=110.43 EL=110.33 =4 EL=110.43 EL=110.33 |
o % % =) il A =) o Vlo
2 EL=109.43 3 EL=100.43 & =100 432Dl =
b S s Sk
2 - 2
I EL=107.93 ’ .
= - [}
s s
S =
S S
EL=105.93 S 1947 | 1414 1804 i T 20.12 66
S sl 7 are B 15.50 05
= avoy—+ ?)
= = - K=54> A
EL=104.43 EL=104.43 *77‘14—r 8| 5.58 00 ock=18N/mn2 O
il 500 EL=120.43
540|960 D) =
3000 5 2500 0 2320 A s
0 3000 1000| 1500 | 1500 | 1500 | 1200 i @ 42.37 | 26.91 EL=119. 43 2
10200 8870 f
B 23.37 9.82
o <.
~siv | . S °
sy | B 1147 6.15 s o
= ) — k=
BREaVO U FE@ERE 4-4 WiE 5-5 i@
o
S
4970 400 1470 400 2558 BB ERC-40
\ / / B / ‘ ‘
/ | - - 2758
| 2058 500 - EL=116.53 IS EL=116.53
| = . & ~ o
o s
/ ° S ° S 2| s
/ B 2 S 2 =S
| - = o _ - N _ - S
/ 2 = EL=114.83 EL=114.83 - ~
] by / % / = o
/ i | / A | S
/ / | [ Es’ g}c‘b =4 o
/ [ i ~ o~ o
~ EL=112.83 S
/ S = ~ 1459 28
_ / < 128 W 2.29
| _ =z it
| EL=111.43 1870
o LR 4.33
S
S =5 1wl 2 02
=3 avsu—+t w
/(i ™
s NS S—
3 s = w5 @ 16.04 2.38
N+ A W 2302 1697 | 1371 "
21 Tie =
S y
2 - > 5370 L 13.77 2.53
© K—54y
TP i w630 0.00
= = avsu—t
28 T R S 15T EE =
S
2 6-6 BrFm 7-7 B @
<l 1470 400 1071400
- -
2 o
= s S
T > = o EL=116.53 < N EL=116.53
- Z o & ~ o D 2
By 2 > =4
S P N o
N EL=115.00 - EL=115.00 ~
{/ EL=114.43 =
1000
342 J
1471
59 927
1 5 6
JA 4 = JA 184 i 1.72 @ 1.43
1870
B 4.09 2R 340
g R=354> N
o xm | 203 aupy—r BB 14T




WA A R E

& B HRa 7Y — MREEEE ()
av7 JY—h
s B e (m) W T A (m2) -8 W T A (m2) & 5 (m3) S

1- 117 — 26.91 — —
2-2Wr i 0. 50 26.91 26.91 13. 46
3-3Wri 2. 10 4. 66 15. 79 33.16
4-AWr i 1. 00 2.38 3.52 3.52
5-5 Wi 3. 00 0. 00 1.19 3. 57
6-6 W7 1. 00 0. 00 0. 00 0. 00
7-7Wr i 0.34 0. 00 0. 00 0. 00

7N B 7.94 53. 71

= i 7.94 53. 71




ST

4 B Ra 7Y — MREHEE Q)
T
o B | o Ew | merEe | @ e ti

1- 1 i — 9.82 — —
22l i 0. 50 9.82 9.82 4.91
33l i 2. 10 2.05 5. 94 12. 47
A- 41T iE 1. 00 2.53 2. 29 2. 29
55l i 3.00 0.00 1.27 3.81
661K ifi 1,00 0. 00 0.00 0.00
7T i 0.34 0. 00 0.00 0.00

M F 7.94 23. 48

& i 7.94 23. 48




YW 1

Ao

4 W R Y — MR EG)
N=Ffrary)—rGE)
oo e (m) % & (m) FHER () i (m2) % & () FrEE (n) i (m2) i H

1- 117 — 6. 15 — —
2-24r Al 0. 50 6.15 6. 15 3.08
3-3¥r A 2.10 0.00 3.08 6.47
4-AWr i 1. 00
5-5 Wi 3.00
6-6 W7 1. 00
7-7Wr i 0.34

7N 7.94 9. 55

& 7.94 9.55




R Wi R

% B R Y — MEE R E @)
HAEERE S

s B e (m) & £ FHJER (m) % (m2) f§
1- 1r — 7.32 — —
22l 0. 50 7.32 7.32 3. 66
3-3Mi i 2.10 0. 00 3. 66 7.69
44l 1. 00 0. 00 0. 00 0. 00
55l 3.00 0. 00 0. 00 0. 00
6-6M47 i 1. 00 0.00 0. 00 0. 00

M 7.60 11. 35

& 3 7.60 11.35




Ml GETHTHERE T
P G A

AT T EERE

G| B BT 25 & i s %
a7 ) — bk k7% o ck=24N/mm2 m3 16. 71 16. 71
T P [N m2 50. 20 50. 20
BEA SD345 D13 kg 357.0 357.0
SD345 D16~D25 kg 0.0 0.0
SD345  D29~D32 kg 1,438.0 1,438.0




747 L FEPTAE
& 25T 4T BT fEaT
) =y ¥ & T i
NO. 3+10. 00 1.0
/J\ % 1.0
= g 1.0




o OB
B ST HERE L
Tuyg o 2%

X g
AR Bk T =\ L
ar7 Y—Fh

{3.30X6. 10+1/2 X (0. 70+2. 50) X 1. 00} X 0. 70+1/2X0.70X0. 70 X
BEAD 0 ck=24N/mm2 |6. 10=16. 706

16.71 m3
Tl
3.30X6.10+1/2X (0. 70+2. 50) X 1. 00+0. 70 X 7. 10+2. 60 X 6. 10
710} +1/2X (0. 70+2. 50) X 1. 00+0. 70X 1. 414 X 6. 10=50. 20
50.20 m2
710}
2574 TEHX LD
SD345 D13
357.0 kg
710}
2574 TEHX LD
SD345 D16~D25
0.0 kg
710} 2574 TERHX LD
SD345 D29~D32
1,438.0 kg
25T
3.30X (6. 10+7.10) X 1/2=21. 78
M 2

21.78 #im2




